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Answer in Bodo

: U7=7

(^) ^ 3ThtTt^ T™?

(^) 'tfr' ^

(n) Tl^mr '̂-3^T TT^^TT# TH^?

(^) '̂-3TT likt
#RT 1TT

(^) 3^P^k^\ 1^f%T (numeral)
l^f^irr (definitives) ^ -aiWll^lcl

•51^?

(^) '̂ TRTHt' ^ ^?
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2, ^8nt feR : 2x4=8

(^) "g^mi 3Tff^ (negativation) 4^kiTFFfr
Wrf^ "HfTT 3TRr TTT KT

f^i

(^) ^ TRR hIh^^ (tone)^ «rT?Rrf^ i

(^) ^ TR Wit stptt?t WW
?tW^ 5 f^i .

(^) Wt TR^TRT Wft HHJilni ttW ^ Wt "^1

3. -f '̂ (RT^rfe-^IT^TT
'tWit) : 5x3=15

(^) IRW «IHWP WRW ttt TfT "f^l

(^) ^ WWt TRT^ 3nBR5iRTq rW
sjtW^ ^?

(^) TRT qrWrr W^ ^tr sWt Wro W
W? WIWt (factor) ^TT ttt I

(^) tRlWW^ WRT "R "RT W:i

(^) Isogloss

i

4. J' W ^anf^oieiN TO «iT^3tW W@t RkTOR
^1 10

"i^«rr

^ TOrarf^W 1^i%sr rto an^arswihW
10
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snMnhi T1?tWRT I 10

TRI ^ ^ JlUHK^dnA i 4ilwmi 1^1 10

6, TTTO ^ "nt^ ^nt^^TPT# ,
1^[^<HI fel 10

^ i;i wrrf^ \kU<'\\ 1^1 10

ir ir ir
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